Unit 3 Notes: “Writing Equationy from Tables”’
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Finding the Slope of a Graphed Lin ’
o find the slope of a'gra ne, find two "nice" points on the grid, make the :stalg—g@. The
vertical distance is the numerator 1rise| and the horizontal distance is the denominator ‘run).

Stepl: Step2:
Mark 2 "nice" Draw a stair-step
points where the between your two
gridlines intersect. points.
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) -or any two Points, there is exactly one straight line that can be drawn through both
points. In'thls problem, you will be given the coordinates of two points. Your task will
be to find information about the line through these points — including its slope} its

"¥intercept, vits equation, and other points on the fine.

1) (2, 6) and (0, 4)
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a. Plot the points and draw a line through them ,

across the grid. ”
b. Does the graph{increase Mecrease, or stay the
same from left to right? 1WCvesseS i {
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c. Find the slope df the line. 2.
d Find the y-intercept’of the line. ‘_-I 2 B
e. Write the equation of the line. ¥:' x+4 : 'J ’ ]
f. What is another point on the line. { l*ﬁ) f ] H
(2, 3) and (4, 6) ’ 5 ]
— ; a. Plot the points and draw a line through them 4 | ]
across the grid. 3 j
b. Does the graph increase, decrease, or stay the a —]
same from left to right? :

¢. Find the slope of the line. T R R T
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